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In order to be able to represent entities in a database, one additional condition needs to be satisfied by the attributes that characterize the entities.  This condition requires that every attribute have a single value.  That is, attributes that in one or more instances of the entity may have multiple values are invalid.   If this happens there is a strong possibility that an entity is missing in the database.  


Database developers should also avoid the inclusion of attributes that can be derived or calculated from existing values of some other attributes of the same entity.  Notice that we are making emphasis that the attributes belong to the same entity. For instance, consider an employee entity where some of the attributes are age and date of birth.  Since age can be derived from the current date and date of birth, the attribute age should not be included in the entity.  If only the age attribute is included the database needs to be update constantly since the age of the employees varies from year to year.  In this case it is better to include the date of birth and calculate the age of the employee whenever it is required.

